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(1)
Chomsky (Ch.3) showed how Condition C effects not obviously determinable at SS (the Freidin/Lebeaux phenomenon) can be explained by an LF approach, given certain assumptions.

a. Summarize the account, indicating specifically what assumptions are needed.

b. In Ch.3, Chomsky does not discuss the classic argument (his) that Condition C must apply at SS, based on examples like *Hei liked every book that Johni read    and   *Which woman said hei liked liked which book that Johni read

Briefly summarize the classic (LGB) argument, then discuss how the phenomenon might be captured in the LF theory of Ch.3. 

[6 points]

(2)
Consider the following 'reconstruction' example:

    'This picture of himself is the present from his mother that everyone treasures the most'

Can the Ch.3 story about Cond. A and reconstruction handle this? If so, sketch an analysis. If not, say what the difficulty is.

[4 points]

(3)a.
Chomsky (Ch.4) suggests that we consider LF movement as a species of feature movement (FF-movement).  In particular, at LF the only elements that move are formal feature bundles.  Categories stay put.  Suppose that this is correct, and assume that accusative Case in English is checked at LF.  Describe how this will occur and specify what assumptions will be required to cover the binding data presented by Lasnik and Saito.

   b.
FF-movement was also argued by Chomsky to mediate the relation between an expletive and its 'associate' in existential constructions like (i), without running into 'Davis's problem' about scope ('There aren't many students here' ≠ "Many students aren't here').

                                  i.   There is a woman in the class

           cf. There are women in the class

Assume that this is correct.  What does your solution in 3(a) imply about the examples in (ii) and (iii)? Are these just as expected, or is there a difficulty?



        ii.a.  *There seems to himself1 to be someone1 eating a pizza



            b. *There seems to anyone to be no one eating a pizza 

                               iii.a.   Someone1 seems to himself1 to be eating a pizza

                                   b.   No one seems to anyone to be eating a pizza

[5 points]

